WETERCHR / 2024F05R 110 FitE / 5B 1 BIFER/DN - FFEERR

RC18MWR/NF 247
18m@ 18m®@
A |IFRE 5 ACHT 2 265 243 508

2 | 1A |BERERF HEHT—F ) —He 170 158 328 4
RC18mWR/NF 5

1] 1{C (BN fnsE ACHT 2 289 287 576 9 2
2| 2|A |tkBE RoX HFEHT—F ) —He 271 246 517 11 2
31 2[B |f0EH AKX HorahT—FrU—Ha 162 195 357 1
41 2|IC |%it #®A #rar—FU—Ha 200 151 351 4 1
RC18MWRHF B F

1] 3|C |&=F K NMEBT—F U —the 233 267 500 7 2
RC30mMWRARZ 4 F

kv [ K4 FhiE 30m@® 30m@ At 10 X 5

1] 4A |Arn x= ACHT 2 313 278 591 14 3
2| 6|A |i& a4 ACHT 2 285 287 572 10 1
3| 4|C |HE =& ACHT 2 264 263 527 13 1
41 7IC |'&E B MBI ZE P FR 220 255 475 7 3
51 7|A [ILF X MBI P FR 205 251 456 7 2
6| 7|D | KB EE MBI ZE P FR 192 218 410 2 0
7| 4|D |$BELEE HoramT—Fl—He 177 230 407 3 2
8| 6B |BEE & MBI P FR 200 204 404 3 1
9| 5|A |IBHES HEHT—F ) —He 151 213 364 4 1
10| 6|C |BZE #kF MBI P FR 177 129 306 2 0
RC30mMWRH=Z B F

1 [12[C |EF W% B HIL = FR 286 297 583 10 6
2 |10|A |EE =X MBI =R FER 277 291 568 2
3| 5B [HA =HE HSC 268 286 554 2
4 9ID |[R BB B HIL = FR 285 243 528 12 6
5 110|C |E=2H BBaA fAfEm L —=Z PR 242 284 526 1
6 |12|B [lLE #K B IL —ZHFER 275 251 526 3 1




8|C [mE == BT —EPFER 255 267 522 5 1

111A (=B &1 BRI =R 266 249 515 8 3

9[B [#p A BEK BRI —EPFER 264 246 510 4 1
10| 8B [AHAEX f&A BRI =R 238 2170 508 6 1
111 10|D |fc4 XK &k BRI =R 242 261 503 5 0
12| 8|A |AfE BEE ACHE 246 253 499 5 0
13| 11|D |FR ¥W—B |MEHIZ=ZHFER 236 246 482 8 2
14 [12|A [[BE ™E AMEMIL = P FER 235 244 479 5 1
15| 5|C |MaAEIS HEGT —F U —He 235 233 468 5 1
16| 10|B |’ZH N BRI = R 221 238 459 2 0
171 9|C |[#&T Bt MBMIL S RFER 199 227 426 6 4
18| 9|A |ITH K& BRI = PR 207 216 423 2 0
191 12|D |ARHE B&H |MEHILIZZHFER 168 206 374 3 2
20| 11|C |zH R& BRI = R 156 210 366 1 1
21| 11B |A1B & MEHIL =R 147 184 331 1 0
22| 8|D |EA& ZEK BT = PR 92 105 197 0 0




